www.ntnews.com., D08 (8 8% oo FD D06 e B I 08§ OB et B40&® & SRy
353, oot www.facebook.com/ntnipuna 3J°£5'36§6j 65 33”636% 9 3&)& $or0:306 ? 05853 go@o 268 D 3%, )
4 ) & OB ? e ?
aséoégo gdgso uS 89 36 (enSos &%z 00 EREERERINCES) ¢
oms0 108062023 awy0the B9) EONKROER DB &eSo%rE

WBEEPTE 2900 ST50 1024 5.8 ©onS o 2Hz0 ?

1 78% Ewt) el Sedo

Complementary angle of 73 ( In degrees)

1) 17 2) 18 8) 27 4 7
Solution:
Answer - 1

73° o Gty 68 B = 90 - 73

=17

(73 417" =90 73°,17" & it Biomen)
2 (Bod AL ol Hiie

Perfect cube among the following.

1) 14 2) 100 3) 196
Solution:
Answer -4

4) b1z

I'=1,2"=83 =274 =64,5 =125,6" =216,
7' =343,8" =512,9" = 729,10" = 1000
= fiore sy optionesd® 512 S Hodpg ks
3. Do oy K4 Hodks .3k 24 wotheh

o8 dogy B wownd S5 dogy
ITHCF of two numbers ks 4 and their LCM i 24
and one beris 8. Then the other beris
1} 8 2) 10 3) 12 4) 14
Solution:
Answer -8
axb=LxG
24w
- =12
=a ry

£.7.00, Aingre ogo o Sogp ozl
Hdrdo 29 LxG=4x24=96 & add
optiones® 128 i 96 Sigos.

4. B Sabdy 37 don. bE Sabdy, 6% Sl
ol 18 Hokdmres Jkys wond i Sabily
Rama age is 37 years. If Sita age is 18 years
more than Rama age 7
1) 45 2) 55 3) 60 4) 65

Solution:

Answer -2
b Sabilyy = 37 + 18 = 55

5 96 Ro.d. S mdiod 608 e
DEET, B0 B it Tl UG (Ro.bod
If 96em of thread is divided into 6 equal parts.
Then the length of each part (in em)

1) 16 2) 14 3) 18 4) 24

Solution:
Answer -1
Bi tity
Length of each part = M
Small Quantity
';Jlé Shdrmo
= o, soarso
2
9
=|6ecm

6. ol SEUE Gei The . woul o0 HigTed
(Ro.dn.06%)
If side of a square is Tem then its perimeter
(im em)
1) 49 2) 38 4) 36
Solution:
Answer -4
Perimeter = 4(la = 4=7=28 em.
7. o Pivod sl S0l Sy Fulo TUS
6 Brotry Dalpo Sobd elich. SiTo b e
Do ol 475 B Dagyes SEENeTE.
sl JENodbom 7 Dy (B.red)
A School received 6 quintels of rice for mid-
day mealin the month of June. If they utilized
475 kg. Then the unutilized rice is (in Kgs)
1) 115 2) 1256 3) 150 4) 135
Solution:
Answer -2
600 kg —475 kg=125kg

8 Y, G sosus 36%0

4) 28

Additive inverse of %.,
v 2 92 Y e,
Answer -1

a @w¥) Sl DEfwo =
ad@ng Sosess 960 = I/
7 o
|/2 @ik okers Do =- 1)
-1
U, @8 omees 260 =1%)

9. 47% ma‘%

4.7 isin the form of % is

1) E 2) i a) ﬂ 1) i
9 43 7 47
Answer - 1
47 4
9 9

10, S65 0 froo Fego 1024 2.5, e o0
Eods (g
The area of a square field 1024 sq.m then find
its side (in meters)

1) 22 2) 42 4) 32 4) 12

Solution:
Answer -3
a® =1024
=a=+1024
=32
32
31024
e _‘;
I Aol 2,46
124 O
X
Jinzd =32

1L ABCDed Sebdypemse AB|DC,AD| BC,
|[A=50" “bckn woxd |Boens (&fies’)
ABCD is quadrilateral AB || DC, AD || BC,
|A =30 then the value of |13 is (in degrees)
1) 1356 2) 90 3) 180 4) 130

Answer -4
|A=50"[B=1
~|A+[B=180
= 50+|B=180

= ([B=130, 4
12, Sxdave @ewos Ko 2mgstve 3Gy 2
Number of lines of symmetry for a scalene
triangle is ...
1) 0 21 3) 2 4) a
Solution:
Answer - 1
Dihere (Bghuod® theren eldindo =GN
gt Hubhdo =)
13 6 9w pbd Er.210 wanid 4 ST v
Brrdnd’)
If the cost of 6 books is Rs.210 then the cost
of 4 books is (in rupees)
1) 180 2) 160 3) 140  4) 40
Solution:
Answer -3
6—210
4—7
Axale
4 ggen pbm= o~ 140
3
14.  20,25,300 53010
LCM of 20,2530 is
1) 310 2) 300
Solution:

Answer -3

3) 200 4) 250

5|20,25,30

2?4. 5.6

2,53

LCM =5x 2% 2x5%3 =300
15. If 3()( +2)=2(x=1)="7 then the value of x

(X e Jod)

1) 2 2) -2 H-1 41
Solution:
Answer -3

Given3(x+2)-2(x-1)=7
=3Ix+6-2x+2=7
=x+8=7
=x=7-8
=[x=-]]
16.  AABC=ADEF 1f |A=30"|B=45"then
(wad) |Fin degrees.(&(fiod®)
1) 106 2) 150 3) 90
Solution:

Answer -1

A

4) 180

|A=30°|B =45
~|C=180-(30+45)
=108
- AABC = ADEF= |C=|F=105"
17, Td8 10 @Serddone SHjidis.
Median of first 10 prime numbers is
17 2) 13 ) 17 4) 12
Solution:
Answer -4
First 10 Prime Numbers(@o88 58 @ieris Sogge)
=235 7,[1L13[17.19,23,29
24
ol
18, 2:3%0ak 4: 5 D oUgle wiol! 58 45
X mowd v B SEeEEEl.
The compound ratio of 2:3 and the inverse
ratio of 4:5 is 45:x then x is equal to
1) 45 2) 35 a1 24 4) 156
19, 1.999....:% p,q Srgsony: o

% SriSod® oatrm, ©6 ...
.99y ... is expressed in the form of % ,

. 11413
,',Ml:dlill!=T

12

vq=0

where p and q are integers and g = 0, then it
i5 ..

99 1999 1

L T 2 o0 P2 49 3
Solution:

Answer -3

=2

2 Threaiwa AT (35008)

4.27+3.51

1) 07 8 2) 076 3) 778 4) .76

Solution:
Answer -3
(axa)-(bxb) a b
a+h T a+b
w{20)e-b)
a+b
=a-h

.~ Required value=427+3.51=0.76
2l. A=5x"=4x+2,B=x'=2x~7 Then A+B
Dends
1 4’ —6x+5
Solution:
Answer -4

A+B=(5+1)0 +(—4-2)x+(2-7)

2) x4 6x+5

=6x"=6x=5

n

Sx e

1) 25 2)5 3) -5
Solution:
Answer -1

(-6

=[i=3]

9 3 ~§
] :[E] Then the value of 5x is soxd

| v

4) -25

SOk =5x5=25

23, 3,5,4,5,4,3 Semodo S ariottids
The mode of the data 3,54,54.3 is

1) 3 2)6 d) 4
1) (oo Btb)
ution:
Answer -4

¥ dapodod® DRE Jdysied BEogEo
oo, © Dedid erdurito wobrh,
24, 237 yr BEREG SolD Soro Hong
Numbers of terms of expression 2x7yz is
1 2) 2 ) a 4) 4
Answer -1
ZN:yzﬁai'u} sere Hogg = 1
25 If 24.125=244 1, + 3+ 5 wand AB &
Zdo then sum of Aand B

1) 100 2) 110 3) 1100 4) 1110
Solution:
Answer -2
24.125=244 L4 24 >
100 100 1000
2
24-+-!-+"3+-?:
A B C
A=10B=100

SA4B=104100=110
26 o' = 8 Gieigsa. (s equal to)

v (a4 5)(s-14)
2 (a-24)(- %)
VRS VA
o (Yira)(a+ 1)

Solution:
Answer - 1

a=oedama’ —

(G)-=

4-# W0 Tirerdo 1
27. G 5 dlake Wr.0.50 Ko 250,

The ratio of Rs.5 and Rs.0.50 is

1) 100:1 2) 50:1

3) 10:1 4) 5:1
Answer -3

28, %a[%]m@gmimom

s -7
Multiply é by the reciprocal of [E]

20 a0 9% -9
= ) ) )

1 To4 91 o1

Answer -4

=
Reciprocalof —=—
SR 6

7
6 —16_ -9
—g—=—
13 7 a1
29. /17,64 = 4.2 then 0001764 Do
1) 042 2) 0.042
3) 0.0042 4) 0.00042
30, 47 = 25¢ then find x wowd 1 Deod S0 7
11 2) 2 3 38 4 4
Solution:
Answer -2
=4 256=dxdxdxd
= Ix=4
=[x=1]
3L G 62,5000 | Sodgenl 8% gl T
6 Buolh wide 38 2ol sged ey 34
(o)

The interest on Rs.62,500 for | 2 year at 8%,
per annum compounded half yearly is (in

rupees)
1) 7804  2) 7500  3) 16232 4) 5000
Solution:
Answer -3
62500x 108 108 108 _ 24732
100 100 100

S CI=78732-62500= 16,232
32 (808 goBe Hoged ‘SRS Footc’ ed

ot ?

The following four digit number known as
Kaprekar's constant.

1) 7641 2) T146 3) 6741 4) 6174

33 =4 500 30508 Sy 17 Feol rg 3k,
o2 $00 10 Ferof g Sototh wilelsl oty
&W R
30 men can finish a work in 17 days. To finish
the same work in 10 days. The number of extra

men requirved is...

1) 2 2) 30 3) 51 4) 11
Answer -1

(M) 2

0 17
Bl 0¥

Eraeld dibipe Hoyy =
ey e =51-30=21

34, &5 of dal Ndysabeid &.605 T, 10
Afymrabed dr 40 TEpE eyt wdul S
P Bor mwdoﬁ‘

Tushar bought one dozen lemon as Rs.60 and
sold at the rate of Rs.40 per 10 then the
percentage of gain or loss...
1) 10% [(!Ssé‘éu 2) 10% gainergo
3) 20% loss 5o 4) 20% gain o
Solution:
Answer -3

12 ] 10 40

CP =600
Difference 120

S.P =480

% = 21P/n(lnss}

35, 501000002 1000+8x 100+ 0x 104+7% 1 is
same as
1) BOOBT 2) 500807 3) 5807 4) HOAT
Solution:
Answer -2
S0000 + 0 + 800 + 0 + T = 50807

D 8o

$855, 9365 96 0,5,
25002508




